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static int a[6] = {0x48, Ox65, Ox6¢C,

int main(void)

{
putchar(*a);
putchar(a[l]);
putchar(*(a + 2));
putchar(*(3 + a));
putchar(4[a]);

Ox6c, Ox6f, Ox0a};




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C,

int main(void)

{
putchar(*a);
putchar(a[l]);
putchar(*(a + 2));
putchar(*(3 + a));
putchar(4[a]);
putchar(*(&a[2] + 3));

Ox6c, Ox6f, Ox0a};




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a};

int main(void)

{




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a};
int main(void)

{

const int * p = a + 6;




extern int putchar(int);

static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a}

int main(void)

{
const int * p




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a};
int main(void)

{

const int * p = a + 6;




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a};

int main(void)

{
const int * p = a + 6;
putchar(p[-6]);




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a};

int main(void)

{
const int * p = a + 6;
putchar(p[-6]);
putchar(*(p - 5));




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a};

int main(void)

{
const int * p = a + 6;
putchar(p[-6]);
putchar(*(p - 5));
putchar(*(-4 + p));




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C,

int main(void)

{
const int * p = a + 6;
putchar(p[-6]);
putchar(*(p - 5));
putchar(*(-4 + p));

putchar((-3)[p]);

Ox6c, Ox6f, Ox0a};




extern int putchar(int);

static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a};

int main(void)

{
const int * p = a + 6;
putchar(p[-6]);
putchar(*(p - 5));
putchar(*(-4 + p));

putchar((-3)[p]);
putchar(*&p[-2]);




extern int putchar(int);
static int a[6] = {0x48, Ox65, Ox6¢C, Ox6C, Ox6f, Ox0a};

int main(void)

{
const int * p = a + 6;
putchar(p[-6]);
putchar(*(p - 5));
putchar(*(-4 + p));
putchar((-3)[p]);
putchar(*&p[-2]);
putchar(*&*(p - 1));







#include <stdio.h>
#include <stddef.h> // typedef <some implementation-defined unsigned integer type> size t

int main(void)

{
int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};
size t 1 = 0;
putchar(a[i]);
++1;
putchar(a[i]);
++1;
putchar(a[i]);
++1;
putchar(a[i]);
++1;
putchar(a[i]);
++1;
putchar(a[i]);
++1;



#include <stdio.h>
#include <stddef.h> // typedef <some implementation-defined unsigned integer type> size t

int main(void)
{

int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};

size t 1 = 0;
( putchar(a[i]); )
++1;
putchar(a[i]);
++1;
putchar(a[i]);
++1;
putchar(a[i]);
++1;
putchar(a[i]);
++1;
putchar(a[i]);
\++1; )




#include <stdio.h>
#include <stdlib.h>

int main(void)
{

int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};
size t 1 = 0;
(again: )
putchar(a[i]);
++1;
if (i < 6)
L goto again;




#include <stdio.h>
#include <stdlib.h>

int main(void)

{
int a[6] = {ox48, Ox65, Ox6c, Ox6c, Ox6f, Ox0a};
size t i = 0;
(again: { )
putchar(al[i]);
++1;
} if (i < 6)
. goto again;




#include <stdio.h>
#include <stdlib.h>

int main(void)
{

int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};
size t 1 = 0;
( .
again: {
putchar(a[i]);
++1;
} if (i < 6) goto again;
- J

~




#include <stdio.h>
#include <stdlib.h>

int main(void)

{

int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};

size t 1 = 0;

(dO{ p
putchar(al[i]);
++1;

} while (i < 6);

}\ J




#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};
size t 1 = 0;
while (i < 6) {
putchar(al[i]);
++1;



#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};
size t 1 = 0;
while (i < 6
putchar(al[i]);
++1;




#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};
size t 1 = 0O;
(while (i < 6)]{
putchar(al[i]);
++1;




#include <stdio.h>
#include <stdlib.h>

int main(void)

{
int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};
size t 1 = 0O;
(for ( ;i<6; )
putchar(al[i]);
++1;
}



#include <stdio.h>
#include <stdlib.h>

int main(void)

{
int a[6] = {0x48, Ox65, Ox6c, Ox6C, Ox6f, Ox0a};
[size_t i = @; |
for ( ; 1< 6; ) A
putchar(al[i]);
++1;
}



#include <stdio.h>
#include <stdlib.h>

int main(void)

{
int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};

for (size_t i = 0f i < 6; ) {
putchar(al[i]);
++1;




#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};

for (size t i =0; i < 6; ) {

putchar(a[i]);

¥



#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};

for (size_t i = @; i < 6;[++i]) {

putchar(al[i]);



#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};

for (size t i =0; i < 6; ++i) {
putchar(al[i]);




#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};

for (size t i =0; i < 6; ++i) {
putchar(a[i]);
}

C




#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};

for (size t i =0; i < 6; ++i)

putchar(al[i]);

¥



#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};

for (size t i =0; i < 6; ++1)
putchar(al[i]);



#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6C, Ox6C, Ox6f, OxOa};

for (size_t i = @; i <[6} ++i)
putchar(al[i]);




#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6C, Ox6C, Ox6f, Ox0a};
size t n = sizeof a / sizeof a[@];]
for (size_t i = @; i <[n} ++i)
putchar(a[i]);




#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[6] = {0x48, Ox65, Ox6¢c, Ox6¢C, Ox6f, Ox0a};
size_t n = sizeof a / sizeof a[@];
for (size t i =0; i < n; ++1i)
putchar(a[i]);



#include <stdio.h>
#include <stdlib.h>

int main(void)

int a[[6]] = {@x48, Ox65, Ox6C, Ox6C, OX6F, Ox0a};
size t n = sizeof a / sizeof a[@];
for (size t i =0; i < n; ++1i)

putchar(al[i]);



#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[] = {@x48, @x65, Ox6c, Ox6C, Ox6F, Ox0a};
size t n = sizeof a / sizeof a[@];
for (size t i =0; i < n; ++1i)
putchar(al[i]);



#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[] = {ox48, Ox65, Ox6¢c, Ox6¢Cc, Ox6f, Ox0a};
size_t n = sizeof a / sizeof a[@];
for (size t i =0; i < n; ++1i)
putchar(a[i]);



#include <stdio.h>

#include <stdlib.h>
I

int main(void)

{

int a[] = {ox48, 0x65, Ox6¢c, Ox6Cc, Ox6f, Ox0a};
size t n = sizeof a / sizeof a[@];
for (size t i =0; i < n; ++1i)

putchar(al[i]);



#include <stdio.h>
#include <stdlib.h>

-~

-

int main(void)
{
int a[] = {ox48, Ox65, Ox6c, Ox6¢c, Ox6f, Ox0a};
size_t n = sizeof a / sizeof a[@];
for (size t i = 0; i < n; ++1)
putchar(a[i]);



#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int a[] = {ox48, Ox65, Ox6c, Ox6¢c, Ox6f, Ox0a};
size_ t n = sizeof a / sizeof a[@];
for (size t i = 0; i < n; ++1)
putchar(a[i]);

}



#include <stdio.h>
#include <stdlib.h>

(static void myputchars(const int * s, size t nf\

{
for (size t i =0; i < n; ++1i)
putchar(s[i]);

b J

int main(void)

{

int a[] = {ox48, Ox65, Ox6c, Ox6¢c, Ox6f, Ox0a};
size_ t n = sizeof a / sizeof a[@];
(myputchars(a, n); |




#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * s, size t n)
{
for (size t i =0; i < n; ++1i)
putchar(s[i]);
}

int main(void)

{
int a[] = {ox48, Ox65, Ox6c, Ox6¢c, Ox6f, Ox0a};
size_t n = sizeof a / sizeof a[@];
myputchars(a, n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * s, size t n)

{

for (size t i =0; i < n; ++1i)
putchar(s[i]);

int main(void)

{
int a[] = {ox48, Ox65, Ox6c, Ox6¢c, Ox6f, Ox0a};
size_t n = sizeof a / sizeof a[@];
myputchars(a, n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * s, size t n)

{
/rconst int * begin = s; D)
const int * end = s + n;
for (const int * it = begin; it != end; ++it)
_ putchar(*it); )
}

int main(void)

{
int a[] = {0x48, ©x65, Ox6¢c, Ox6C, Ox6f, Ox0a};
size_t n = sizeof a / sizeof a[@];
myputchars(a, n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * s, size t n)
{
const int * begin = s;
const int * end = s + n;
for (const int * it = begin; it != end; ++it)
putchar(*it);

int main(void)
int a[] = {0x48, ©x65, Ox6¢c, Ox6C, Ox6f, Ox0a};

size_t n = sizeof a / sizeof a[@];
myputchars(a, n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * s, size t n)

{

const int * begin = s;

[const int * end = s + n;J

for (const int * it = begin; it != end; ++it)
putchar(*it);

¥

int main(void)

{
int a[] = {0x48, ©x65, Ox6¢c, Ox6C, Ox6f, Ox0a};

size_t n = sizeof a / sizeof a[@];
myputchars(a, ;



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin, const int * end)

{

for (const int * it = begin; it != end; ++it)
putchar(*it);
}

int main(void)

{
int a[] = {ox48, Ox65, Ox6c, Ox6¢c, Ox6f, Ox0a};
size_t n = sizeof a / sizeof a[@];

myputchars(a, ;



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin, const int * end)

{
for (const int * it = begin; it != end; ++it)
putchar(*it);
}

int main(void)

{
int a[] = {ox48, Ox65, Ox6c, Ox6¢c, Ox6f, Ox0a};
size_t n = sizeof a / sizeof a[@];
myputchars(a, a + n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin, const int * end)

{
for (const int * it = begin; it != end; ++it)
putchar(*it);
}

int main(void)

{
int a[] = {@x48, Ox65, Ox6C, Ox6C, OX6F, Gx@aw;
size t n = sizeof a / sizeof a[@];
myputchars(a, a + n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin, const int * end)

{
for (const int * it = begin; it != end; ++it)
putchar(*it);
}

int main(void)
{
int a[] = {@x48, Ox65, Ox6C, OX6C, OX6F, exea,;

size_t n = sizeof a / sizeof a[@];
myputchars(a, a + n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin, const int * end)

{

for (const int * it = begin; @t I = en@; ++it)
putchar(*it);

¥

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
size t n = sizeof a / sizeof a[@];
myputchars(a, a + n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin, const int * end)

{

for (const int * it = begin;[*it I= GXGQL ++it)
putchar(*it);

¥

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
size t n = sizeof a / sizeof a[@];
myputchars(a, a + n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin, const int * end)

{
for (const int * it = begin; ++it)

putchar(*it);
}

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
size t n = sizeof a / sizeof a[@];
myputchars(a, a + n);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin( const int * en@)

{

for (const int * it = begin; *it; ++it)
putchar(*it);
}

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};

size_t n = sizeof a / sizeof a[@];

myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begiﬁ}
{

for (const int * it = begin; *it; ++it)
putchar(*it);
}

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
size t n = sizeof a / sizeof a[@];
myputchars(a@;



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin)

{
for (const int * it = begin; *it; ++it)
putchar(*it);
}

int main(void)
{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
[size_t n = sizeof a / sizeof a[@];]
myputchars(a);




#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * begin)

{
for (const int * it = begin; *it; ++it)
putchar(*it);
}

int main(void)

{
int a[] = {ox48, 0x65, Ox6c, Ox6Cc, Ox6f, Ox0a, Ox00};
myputchars(a);




#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * )
{

for (konst int * it = begink *it; ++it)
putchar(*it);

¥

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * )

{
for @ ; ¥it; ++it)
putchar(*it);
}

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * it)

{
for ( ; *it; -++it)
putchar'();
}

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * it)

{
for ( ; *iti[} )

putchar'(;
}

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * it)

{
for ( ; *it; )
putchar(*it++);

¥

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * it)

{

[for ( ; ¥it; )J
putchar(*it++);

¥

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * it)

{

‘while (*it)
putchar(*it++);

¥

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const int * it)

{
while (*it)
putchar(*it++);

¥

int main(void)

{
int a[] = {ox48, 0x65, Ox6¢Cc, Ox6C, Ox6f, Ox0a, Ox00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const * it)
{
while (*it)
putchar(*it++);

¥

int main(void)
{

a[] = {Ox48, Bx65, OX6C, OX6C, OX6F, Ox0a, OX00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const * it)
{
while (*it)
putchar(*it++);

¥

int main(void)
{

(char|a[] = {ex48, @x65, @x6c, Ox6c, OX6F, Ox8a, ©x00};
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const char * it)

{
while (*it)
putchar(*it++);

¥

int main(void)

{

char a[] = ﬁex48, OX65, OX6C, OX6C, OX6F, Ox0a, ex@@};]
myputchars(a);




#include <stdio.h>
#include <stdlib.h>

static void myputchars(const char * it)

{
while (*it)
putchar(*it++);

¥

int main(void)

{

char a[] = &'H', ‘e, '1', '1', 'o', '\n', '\9'}3}
myputchars(a);




#include <stdio.h>
#include <stdlib.h>

static void myputchars(const char * it)

{
while (*it)
putchar(*it++);

¥

int main(void)

{

char a[] = ﬁHello\n";}// {'H', 'e', '1', '1', ‘o', '\n', "\@'};
myputchars(a);




#include <stdio.h>
#include <stdlib.h>

static void myputchars(const char * it)

{
while (*it)
putchar(*it++);

¥

int main(void)

{
char a[] = "Hello\n";

myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const char * it)

{
while (*it)

plltChBC( *]'l-l } ) .

¥

int main(void)

{ char a[] = "Hell';

myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void myputchars(const char * it)

{
while (*it)
putchar(*it++);
[ putchar('\n"); |

¥

int main(void)

{
char a[] = "Helld!;
myputchars(a);



#include <stdio.h>
#include <stdlib.h>

static void[myputcharskconst char * it)

{

while (*it)
putchar(*it++);
putchar('\n');
}

int main(void)

{
char a[] = "Hello";

[ myputchars(a);

}



#include <stdio.h>
#include <stdlib.h>

static void[myputs/(const char * it)
{
while (*it)
putchar(*it++);
putchar('\n');
}

int main(void)

{
char a[] = "Hello";

(myputsf(a);
}



#include <stdio.h>
#include <stdlib.h>

static void myputs(const char * (it))
{
while (¥i%)
putchar (Hith+);
putchar('\n');
}

int main(void)

{
char a[] = "Hello";

myputs(a);



#include <stdio.h>
#include <stdlib.h>

static void myputs(const char *[s)

{
while (*s))
putl!ar(+);
putchar('\n');
}

int main(void)

{
char a[] = "Hello";

myputs(a);



#include <stdio.h>
#include <stdlib.h>

static void myputs(const char * s)

{
while (*s)
putchar(*s++);
putchar('\n');

¥

int main(void)

{
char a[] = "Hello";

myputs(a);



#include <stdio.h>
#include <stdlib.h>

static void myputs(const char * s)

{
while (*s)
putchar(*s++);
putchar('\n');

¥

int main(void)

{

char a[] = "Hello";
myputs(a);




#include <stdio.h>
#include <stdlib.h>

static void myputs(const char * s)

{
while (*s)
putchar(*s++);
putchar('\n');

¥

int main(void)

{
}

(myputs("Hello"); |




#include <stdio.h>
#include <stdlib.h>

static void myputs(const char * s)

{
while (*s)
putchar(*s++);
putchar('\n');

¥

int main(void)

{
}

[ puts("Hello"); |




#include <stdio.h>
#include <stdlib.h>

/g%atic void myputs(const char * 55\\

{
while (*s)
putchar(*s++);
putchar('\n');

& J

int main(void)

{
}

puts("Hello");



#include <stdio.h>
#include <stdlib.h>

(

int main(void)

{
}

puts("Hello");



#include <stdio.h>
#include <stdlib.h>

int main(void)

{
}

puts("Hello");



#include <stdio.h>
[#include <stdlib.h>]

int main(void)

{
}

puts("Hello");



#include <stdio.h>

int main(void)

{
}

puts("Hello");



#include <stdio.h>

int main(void)

{
}

puts("Hello");



#include <stdio.h>

int main(void)

{
}

puts("Hello");
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#include <stdio.h>

struct tempsample {

int time;
double temp;
char scale;

}s

int main(void)

{

struct tempsample samples[] = {

{ o, 48.
{ 20, 11.
{ 39, 64.
{ 62, 28.
{121, 55.
{131, 58.
{140, 61.

s

6,
J

J

)

)

O NONON
o

)

size t nsamples

for (size t i

printf("%3d

‘F'},

= sizeof samples / sizeof *samples;
@; 1 < nsamples; ++1)
%5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>

struct tempsample {
int time;
double temp;
char scale;

¥

int main(void)

{

struct tempsample samples[] = {

{ o, 48.6, 'F'},
{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.0, 'C'},
{131, 58.2, 'C'},
{140, 61.0, 'C'}

s

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i)
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>

int time;

\J3

/gtruct tempsample {\\

double temp;
char scale;

J

int main(void)

{

struct tempsample samples[] = {

{ o,
{ 20,
{ 39,
{ 62,
{121,
{131,
{140,

s

48.6, 'F'},
11.2, 'C'},
64.0, 'F'},
28.7, 'C'},
55.0, 'C'},
58.2, 'C'},
61.0, 'C'}

size t nsamples = sizeof samples / sizeof *samples;

for (size t i

= 0; 1 < nsamples; ++1)

printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>

[struct tempsample { int time; double temp; char scale; };}

int main(void)

{

struct tempsample samples[] = {

{ o, 48.
{ 20, 11.
{ 39, 64.
{ 62, 28.
{121, 55.
{131, 58.
{140, 61.

s

6,

J

)

)

)

O NONODN
-

)

size_t nsamples

for (size t i

printf("%3d

Y,
'},
FY,
'},

= sizeof samples / sizeof *samples;
@; i < nsamples; ++1)
%5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)

{

struct tempsample samples[] = {
{ o, 48.6, 'F'},

{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.8, 'C'},
{131, 58.2, 'C'},
{140, 61.0, 'C'}

s

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++1i)
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);

}



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)

{

struct tempsample samples[] = {
{ o, 48.6, 'F'},

{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.0, 'C'},
{131, 58.2, 'C'},
{140, 61.0, 'C'}
¥
size t nsamples = sizeof samples / sizeof *samples;
(For (size_t i = @; i < nsamples; ++i) { I
if (samples[i].scale != 'C")
continue;
if (samples[i].time > 131)
break;
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);

N J




#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)

{

struct tempsample samples[] = {
{ o, 48.6, 'F'},

{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.8, 'C'},
{131, 58.2, 'C'},
{140, 61.0, 'C'}

s

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i) {

if (samples[i].scale != 'C")
continue;

if (samples[i].time > 131)
break;

printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)

{

struct tempsample samples[] = {
{ o, 48.6, 'F'},

{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.8, 'C'},
{131, 58.2, 'C'},
{140, 61.0, 'C'}

s

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i) {

if (samples[i].scale != 'C")
continue;

if (samples[i].time > 131)
break;

printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);




#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)

{

struct tempsample samples[] = {
{ o, 48.6, 'F'},

{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.8, 'C'},
{131, 58.2, 'C'},
{140, 61.0, 'C'}

s

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i) {

if (samples[i].scale != 'C")
continue;

if (samples[i].time > 131)
break;

printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)

{

struct tempsample samples[] = {
{ o, 48.6, 'F'},

{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.0, 'C'},
{131, 58.2, 'C'},
{140, 61.0, 'C'}
¥
//;ize_t nsamples = sizeof samples / sizeof *samples; \\\
for (size_t i = @; 1 < nsamples; ++i) {
if (samples[i].scale != 'C")
continue;
if (samples[i].time > 131)
break;
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);




#include <stdio.h>

struct tempsample { int time; double temp; char scale; };

int main(void)

{

struct tempsample samples[] = {

{ o, 48.
{ 20, 11.
{ 39, 64.
{ 62, 28.
{121, 55.
{131, 58.
{140, 61.

s

6,

J

)

)

)

O NONODN
-

)

'F|},
lcl},
lF|},
'},

size_t nsamples

for (size t i

printf("%3d

}

= sizeof samples / sizeof *samples;
@; i < nsamples; ++1)
%5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);




#include <stdio.h>

struct tempsample { int time; double temp; char scale; };

int main(void)

{

struct tempsample samples[] = {

{ o, 48.6, 'F'},
{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.0, 'C'},
{131, 58.2, 'C'},
{140, 61.0, 'C'}

s

size_t nsamples

for (size t i

printf("%3d

}

= sizeof samples / sizeof *samples;
@; i < nsamples; ++1)
%5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)
{
struct tempsample samples[] = {
{ o, 48.6, 'F'},
{ 20, 11.2, 'C'},
{ 39, 64.0, 'F'},
{ 62, 28.7, 'C'},
{121, 55.8, 'C'},

}s

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i)
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)
{
struct tempsample samples[] = {
{ o, 48.6, 'F'},
{ 20, 11.2, 'C'},
[{ 39, 64.0, 'F'}
{ 62, 28.7, 'C'})
{121, 55.0, 'C'},

}s

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i)
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)
{
struct tempsample samples[] = {
{ o, 48.6, 'F'},
{ 20, 11.2, 'C'},
[{ 62, 28.7, 'C'}
{ 39, 64.0, 'F'}),
{121, 55.0, 'C'},

}s

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i)
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

int main(void)
{
struct tempsample samples[] = {
{ o, 48.6, 'F'},
{ 20, 11.2, 'C'},
{ 62, 28.7, 'C'},
{ 39, 64.0, 'F'},
{121, 55.0, 'C'},
¥

size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i)
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };
int main(void)

{

struct tempsample samples[] = {

[0] = {.time = 0, .temp = 48.6, .scale = 'F'},
[1] = {.time = 20, .temp = 11.2, .scale = 'C'},
[3] = {.time = 62, .temp = 28.7, .scale = 'C'},
[2] = {.time = 39, .temp = 64.0, .scale = 'F'},
[4] = {.time = 121, .temp = 55.0, .scale = 'C'},

¥
size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i)
printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };
int main(void)

{

struct tempsample samples[] = {

[0] = {.time = 0O, .temp = 48.6, .scale = 'F'},
[1] = {.time = 20, .temp = 11.2, .scale = 'C'},
[3] = {.time = 62, .temp = 28.7, .scale = 'C'},
[2] = {.time = 39, .temp = 64.0, .scale = 'F'},
[4] = {.time = 121, .temp = 55.0, .scale = 'C'},

¥
size t nsamples = sizeof samples / sizeof *samples;
for (size_t i = @; 1 < nsamples; ++i)

printf("%3d %5.11f %c\n", samples[i].time, samples[i].temp, samples[i].scale);






#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void printsample(struct tempsample sample)

{
}

printf("%3d %5.11f %c\n", sample.time, sample.temp, sample.scale);

int main(void)

{
}

printsample((struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'});



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void printsample(struct tempsample sample)

{
}

printf("%3d %5.11f %c\n", sample.time, sample.temp, sample.scale);

int main(void)

{
}

printsample((struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'});




#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void printsample(struct tempsample sample)

{
}

printf("%3d %5.11f %c\n", sample.time, sample.temp, sample.scale);

int main(void)

{
}

printsample((struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'});



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void printsample(struct tempsampleHsample)

{
printf("%3d %5.11f %c\n", .time, .temp, .scale);

}

int main(void)

{

printsample{}struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'});
}



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void printsample(struct tempsamplesample)
{

}

printf("%3d %5.11f %c\n",[(*sampleﬂ.time, K*sample)}temp,[(*samplej.scale);

int main(void)

{
pr‘intsamplestr‘uct tempsample){.time = 39, .temp = 17.8, .scale = 'C'})
}



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void printsample(struct tempsample * sample)

{
}

printf("%3d %5.11f %c\n",[(*sample).tim%, K*sample).temd,[(*sample).scale};

int main(void)

{
}

printsample(&(struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'})



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void printsample(struct tempsample * sample)

{
}

printf("%3d %5.11f %c\n",[sample—>time}[sample—>temd,[sample—>scalﬂ);

int main(void)

{
}

printsample(&(struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'})



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void printsample(&truct tempsample * sample)

{
}

printf("%3d %5.11f %c\n", sample->time, sample->temp, sample->scale);

int main(void)

{
}

printsample(&(struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'})



#include <stdio.h>

struct tempsample { int time; double temp; char scale; };

static void pr‘intsample( struct tempsample * sample)
{

}

printf("%3d %5.11f %c\n", sample->time, sample->temp, sample->scale);

int main(void)

{
}

printsample(&(struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'})



#include <stdio.h>

struct tempsample { int time; double temp; char scale; };

static void[printsamplékconst struct tempsample * sample)

{
}

printf("%3d %5.11f %c\n", sample->time, sample->temp, sample->scale);

int main(void)

{
[printsampl%(&(struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'})
}




#include <stdio.h>

struct tempsample { int time; double temp; char scale; };

static void[fempsample_prinﬁkconst struct tempsample * sample)

{
}

printf("%3d %5.11f %c\n", sample->time, sample->temp, sample->scale);

int main(void)

{
[tempsample_prinﬂ(&(struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'});
}




#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

static void tempsample print(const struct tempsample * sample)

{
}

printf("%3d %5.11f %c\n", sample->time, sample->temp, sample->scale);

int main(void)

{
}

tempsample print(&(struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'});



#include <stdio.h>

struct tempsample { int time; double temp; char scale; };

/g%atic void tempsample print(const struct tempsample * sample) 4\\
{ printf("%3d %5.11f %c\n", sample->time, sample->temp, sample->scale);

}

int main(void)

{ tempsample print(&(struct tempsample){.time = 39, .temp = 17.8, .scale = 'C'});

}

- J




#include <stdio.h>

struct tempsample { int time; double temp; char scale; };

-
double tempsample _temp in celcisus(const struct tempsample * sample)

{
double temp = 0.0;
if (sample->scale == 'C') {
temp = sample->temp;
} else if (sample->scale == 'F') {
temp = (sample->temp - 32) * 5 / 9;
} else {
printf("Huh?\n");
}
return temp;
}
int main(void)
{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));
}




#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
if (sample->scale == 'C') {
temp = sample->temp;
} else if (sample->scale == 'F
temp = (sample->temp - 32)
} else {
printf("Huh?\n");

"F') A
* 5/ 9;

}

return temp;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
if (sample->scale == 'C') {
temp = sample->temp;
} else if (sample->scale == 'F
temp = (sample->temp - 32)
} else {
printf("Huh?\n");

"F') A
* 5/ 9;

}

return temp;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));




#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
(" if (sample->scale == 'C') { N
temp = sample->temp;
} else if (sample->scale == 'F
temp = (sample->temp - 32)
} else {
printf("Huh?\n");

S y,
return temp;

"F') A
* 5/ 9;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;

(" switch (sample->scale) { )
case 'C': temp = sample->temp; break;
case 'F': temp = (sample->temp - 32) * 5 / 9; break;
case 'R':
case 'K': printf("Feature not implemented\n"); break;
default: printf("Huh?\n");

S y,
return temp;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
switch (sample->scale) {
case 'C': temp = sample->temp; break;
case 'F': temp = (sample->temp - 32) * 5 / 9; break;
case 'R':
case 'K': printf("Feature not implemented\n"); break;
default: printf("Huh?\n");
}

return temp;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
switch (sample->scale) {
case 'C': temp = sample->temp; break;
case 'F': temp = (sample->temp - 32) * 5 / 9; break;
case 'R':(/* fallthrough */|
case 'K': printf("Feature not implemented\n"); break;
default: printf("Huh?\n");

}

return temp;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
switch (sample->scale) {
case 'C': temp = sample->temp; break;
case 'F': temp = (sample->temp - 32) * 5 / 9; break;
case 'R':
case 'K': printf("Feature not implemented\n"); break;
default: printf("Huh?\n");
}

return temp;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>
struct tempsample { int time; double temp; char scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
switch (sample->scale) {
case 'C': temp = sample->temp; break;
case 'F': temp = (sample->temp - 32) * 5 / 9; break;
case 'R':
case 'K': printf("Feature not implemented\n"); break;
default: printf("Huh?\n");
}

return temp;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = 'F'};
printf("%.21f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>

( )

struct tempsample { int time; double temp;|char|scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
switch (sample->scale) {
: temp = sample->temp; break;
: temp = (sample->temp - 32) * 5 / 9; break;

: printf("Feature not implemented\n"); break;
printf("Huh?\n");

}

return temp;

}

int main(void)
{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = };
printf("%.21f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>

[enum tempscale { CELSIUS, FAHRENHEIT, KELVIN, RANKINE };]

struct tempsample { int time; double temp;[enum tempscal} scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
switch (sample->scale) {
case CELSIUS: temp
case FAHRENHEIT:| temp
case KELVIN:
case RANKINE: printf("Feature not implemented\n"); break;
default: printf("Huh?\n");

sample->temp; break;
(sample->temp - 32) * 5 / 9; break;

}

return temp;

}

int main(void)

{

struct tempsample sample = {.time = 20, .temp = 52.3, .scale =[FAHRENHEIT};
printf("%.11f C\n", tempsample temp in celcisus(&sample));




#include <stdio.h>
enum tempscale { CELSIUS, FAHRENHEIT, KELVIN, RANKINE };
struct tempsample { int time; double temp; enum tempscale scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
switch (sample->scale) {
case CELSIUS: temp
case FAHRENHEIT: temp
case KELVIN:
case RANKINE: printf("Feature not implemented\n"); break;
default: printf("Huh?\n");

sample->temp; break;
(sample->temp - 32) * 5 / 9; break;

}

return temp;

}

int main(void)

{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = FAHRENHEIT};

printf("%.11f C\n", tempsample temp in celcisus(&sample));



#include <stdio.h>
enum tempscale { CELSIUS, FAHRENHEIT, KELVIN, RANKINE };
struct tempsample { int time; double temp; enum tempscale scale; };

double tempsample _temp in celcisus(const struct tempsample * sample)
{
double temp = 0.0;
switch (sample->scale) {
case CELSIUS: temp
case FAHRENHEIT: temp
case KELVIN:

sample->temp; break;
(sample->temp - 32) * 5 / 9; break;

case RANKINE: printf("Feature not implemented\n"); break;
default: printf("Huh?\n");
}
return temp;
}
int main(void)
{
struct tempsample sample = {.time = 20, .temp = 52.3, .scale = FAHRENHEIT};
printf("%.11f C\n", tempsample temp in celcisus(&sample));
}
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}
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int main(void) {
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static void tempsample print(const struct tempsample * s) {
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static struct tempsample sample = {.time = 20, .temp = 52.3, .scale
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int main(void) {
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}
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exit (EXIT_FAILURE);
*sample = (struct tempsample){.time = 20, .temp = 52.3, .scale = 'F'};
kr'etur'n sample;

} J

int main(void) {
struct tempsample * sample = demo();
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| free(sample) ;]

}
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int main(void)
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